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1) Which of the following article provide opportunity to establish an educational
institution by language and religious minority?
(A) 30 (2) (B) 30 (1)
(C)+13 (D) 45
9N 03003 To TR TORFF T LT VYO 30> 3,888 HORODI
—%Mqu @dmém@ B3REETH?

(A) 30 (2) (B) 30 (1)
©) 13 (D) 45

2) The NPE 1986 was based on
(A) Programme of Action
(B) Report of Education commission
(C) Challenge of Education — A policy perspective
(D) Central Advisory Board of Education Commuttee Report
m%eod: dzro Qed 1986 39NT o3BT 20eS BHOB[ONT.
(A) 303003Re%s TTFR
(B) &3 woinen 00
(C) 33T mwmoen —2.0T0 ed 3
(D) 3eofod 330 BOT HOBY ANI0D Srlela)

3) Establishment of a national order of equality based on differences of innate
capacity is the goal of
(A) Equalization of educational opportunity
(B) Achieving equity
(C) Bridging the gender gap
(D) Universalisation of elementary Education
B WWPFNY RITYIT GSH Hed Uau&eo:b KT ARFSENVRINICISV NN
m@é’w\o foon) ﬁ@ﬁédd —’533 O3NS,
(A) 3388 ©BTING A0 FOD
(B) Nméo:ba‘» (FRODTD,) QA DR
(C) Son ©030=, BRNLIBATT
(D) =o@Ens d3reT AWF SL3TCR
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4) Which of the Following commission amended 3 (three) language formula

S)

(A) Kothari

(B) ‘Mudaliaar

(C) Radha Krishnan

(D) National Policy on Education

3YNT oo wodeensy Sgome ARZD, STHIE [RE.
(A) &m0

(B) Jnadodeoe

(C) oemeggs®

(D) ca%eods 8ze0 el

The agency responsible for the maintenance of world peace is,

(A) United Nations educational Scientific and cultural organization
(B) United Nations organisation

(C) International Labour organisation

(D) World health organisation

NITV0SONT), AB/F LA &L OO &3 YN AoIeenmoNd.
(A) CIFARE

(B) ododde® Sexa’ SRE JReR’

(C) vono"mAIS" Sero SRF PR

(D) SgF B enrdas

6)
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Cultural diffusion is a process responsible for

(A) Social change

(B) Social control

(C) Cultural lag

(D) Socialization

AOF, 88 BT Tgodhodn 3INITE 0 00IRNT.
(A) =0T WTTRH

(B) =omme33 dodoes

(C) mo%@é% SOoReTNF

(D) mo=023e3080

(P.T.0.)



7)

8)

9)

Which of the following is true

(A) Industrialization not helps in modernization

(B) Industrialization of a nation does not mean modernization
(C) Modernization means mere imitation of advanced countries
(D) Modernization takes place at superficial level.

PN 0T RO.

(A) 3o0essee STRACTTE ATIOD BREWROY

(B) o*-a%cj Mo0e3T YT SEIAETTRT VHFDY

(C) Swowzdw m%ﬁ@:ﬂ RVBTBODE STOVEFOEDI.

(D) ©thdessteg) wom, RTY TRY YOOLRMIST.

The basis of informal and non formal education 1s

(A) Progressive philosophy of education

(B) Sociology of education

(C) Philosophy of idealism

(D) Philosophy of Education

BXe300TRQT B WTPTW0T SFRT YPT— _
(A) 88T TR8dev 3%&1 (B) &3eem nmumg
(C) su3r=ons 5%533 (D) 2geoss 3%@’03}

Knowledge was considered as the instrument of salvation in the period of
(A) Brahammnic education
(B) Buddhistic education
(C) Vedic education
(D) Medieval education
250 BOEOD WIETROD 8 FINT B[RODY TONESZTRN,
(A) wemeo &30

o
(B) &°g &3¢0

[

(C) S[ew 33eo
(D) 30 d3ee
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10) The aim of education should be development of democratic citizenship is a
recommendation given by

(A) Mudaliar commission
(B) University Education commission
(C) Kothari commission

(D) National policy on education

BTG, TVTID/R, ¢ aﬁ&m PRI STEOT MOOOIIWNTLIEFOTD 03T

_J

ST STROR) BRBT.

(l LEL

(A) SpTIooT scdeen
(B) 23Qmeiood sodeer
(C) 3pwd sadeen

(D) OD%@OS) &ge0 Qe

11) Assume that the government orders a school to raise resources from the
community. This indicates,

(A) creation of awareness about community responsibility in the institution.
(B) utilization of community resources.
(C) Encouragement of Philanthropers.

(D) mobilization of resources.

RTNTODROT xo:’a:ira 3& RO A0S aacjoiraocsg 2EF0 BTeBRBoDOTD
TRLARRY, AW s@éﬁé om@c%a FAOPEE 0T

(A) —’o;;p ATNTCNT 2R OOD WA Worf @O, HRBROY

3@

(B) Amwmeodhd Zoxmseond we
(C) Sre3pemtoinym), YZeRTHT
(D) AOTJRLONTI), ROWO RNRP AR T,

M-2151 5] (EEO)



12)

13)

14)

The organization which brings school and community close for the welfare
of children and effective school performance is,

(A) SDMC. (B) PTA.

(C) School Committee. (D) Staff-council

STREFNY LI I TOFIRTO TR FTIRTY 0S5 HE) FBRTOLBW,
535 Io= NONO@DOCSO

(A) QFF. B. 30 2 T mﬁ@ WeLRTO WS

(B) Hweexmz - &3% xoF

(C) Zoop mawé

(D) 2200 ome

The log book is designed to maintain a record of,

(A) student’s information.

(B) calendar of events.

(C) inspectors visits and their remarks.

(D) information of movable property of school.

oo w08 3INT ToDSODI), ATFLILY DTARROBE.
(A) QmRBFNe Sobd

(B) $Te3dns Oxe30

(C) S2e00RTOCH geed B RTNW

(D) zodcdh WooANne Biwkd.

According to the Secondary Education Commission the area for a student in
the classroom should be,

(A) 10 Square feet.

(B) 12 Square feet.

(C) 11 square feet.

(D) less than 10 square feet.

A0wO 3w wAARNT XFT Clelptlowwi] “\crﬁj?c:mmn PetAlg pIo :g;;awm
(A) 10 audd Sl

(B) 12 3030 ©&

(C) 11 280 «B

(D) 10 330 ©&geg 3R
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15)

16)

Which of the Following is established to vitalize elementary teacher education,
(A) SCERT.

(B) DIET

(C) NCERT.

(D) -NCTE:

TRPNT SBFC S0, wuZeRen FINT oS ROFHOID A3
(A) @=F, A D80 &

(B) @odesr
(C) . a.
(D) o7 A.

o3

&0°, &

Cal
o

¢

o
.

National Curriculum Framework 2005 recommends,

(A) construction of knowledge by students.

(B) transmission of accurate knowledge by teachers.

(C) preparation of good textbooks.

(D) dictation of good notes in the class.

UB%@O& TWHBR  2PBe(2005)8 Fged

(A) B3 Fro B STLFeSoD, TOWOWRRT.

(B) zown 830007 [ e, drichmoside.

(€) 25‘9%5 WRODNEG WWIONTY TWF OTITITOR B8 dzew
(D) meoers T3esnY B8 d3re

- (32

17) Which of the following term does not indicates expected pupil behaviour in

behavioural terms?

(A) list. (B) define.

(C) understand. (D) solves.

TYNS ClRm TTY A0 LWRPF DIFFCD, [ RTRTTY ARWAIOY?

(A) @3 Sy : (B) semdmaym

(C) SompdReRI (D) Zozmomvgym

P.T.O.
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18)

19)

20)

Which one of following is correct?

(A) Learning is a process, but not a product.
(B) Learning is both process and product.

(C) Learning is a product.

(D) Learning is neither a process nor a product.
FENT ORI ROCIPNG.

(A) 398 2.0 TFod STV WIIBY

(B) 39% Zpodhodw I wO3DWp

(C) 393 3o I,

(D) 398 ZFodbohwe ¥Y YOSIRR B

A child develops a negative attitude towards a subject as the teacher follows
defective methods of teaching. This is an example for,

(A) Operant conditioning.

(B) Classical conditioning.

(C) Insightful learning.

(D) Observation learning.

BRe5E BRIFTROZ LTIINTR, WPRODSHRWOOT DTN & AWODIBN
DMVLEDE RPCTRETHODI, aﬂ%éﬁ{gs_aﬁ QTR éems:ss; VTIOBDITBOIIONG.
(A) 3030%3, ©IWOT 59%

(B) meommoond whwoy 398

(C) wsdnecel 308

(D) &egeo 393

The maxim of “Whole to Parts” in the field of learning is the result of,
(A) Observation learning. (B) Master learning.
(C) Insightful leamming. (D) Discovery learning.

) D)

Ot FeZRIS AROWOT RWORTN (9 00BICWOT LOBTHEN) B8 THNITT
$OB03NT.

(A) oegro 398  (B) e, 398
(C) e¥dnewl 383 (D) w3exeme 5%
M-2151 (8]



21) An individual learns the rules for driving a car on right side of road in the
western country faces problem in India where driving is on the left side of the
road. This is an example for,

(A) Zero transfer of learning.

(B) Positive transfer of learning.

(C) Negative transfer of learning

(D) both A & B

TRTYZ, Te3TY TROL WOWRONY T30 BSROWA QoDTNTRR, 398 =g
tRUBEY SBWHORY To0 WUOWILY FF, PTOMT. BT 38 TN
YVTOBTF O3RN,

(A) 2e3 39%0 [norams (B) 33085 39%0 mnor=ms
(C) omoEs 3dv0 Snoraes (D) ©» 33 v 206R

22) A well written objective should meet the criteria of,

(A) describe a learning outcome. (B) be student oriented.

(C) be observable. | (D) All of the above.
YUTVTIN WTT VB ETF) FINT QEBOE ONINTTY, S RNRPALIET.

(A) 39% FoBZ, VFORBew (B) dmube deoDgmondedes
(C) RegmzmosTedend (D) eds e

23) The National Curriculum Framework-2005 is based on the insights of,
(A) Report of learning without burden.
(B) National Curriculum F ramework-2000.
(C) National Policy on Education 1986.
(D) Programme of Action 1992. '
oof;)mi: TBZ 2P 2005 INTTT e.93Rewne Sppd3moNG.
(A) ZR3 C&3 3T T[TO
(B) oa%eod: TEFI ¥BL-2000
(C) m;’;)eo:’n dgre e 1986
(D) 3033 odwesd 1992
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24) Which of the Following is based on the theory proposed by Jerome Bruner?

(A) Spiral Curriculum (B) Linear Curriculum
(C) Concentric Curriculum (D) Pyramidal Curriculum
3SNT 03T Oe8od THIF) BRI TETOAT AWYOTT HHoOIIWNT?
(A) AP (B) Seavoz®
(C) Qwdeons ' (D) &o@Ee
25): The main objective of the communication 1s to reach a common
(A) knowledge between sender and receiver.
(B) understanding between sender and receiver.
(C) thinking between sender and receiver.
(D) appreciation between sender and receiver.
RODBIT TP YOTIETY FBITEIN [TE, SLOTDRYTRNS.
(A) SRHE ABWIT D) BEW ERWVDIS IWDI mg;ﬁ
(B) 300%38 QTS B TAED BRRTDI IFDT n&?
(C) SHé WIT D) DA ERNTBI IWAT 2303
(D) 3008 erTH B TBD FRRTDI SERD =J0A
26) The following is a component of skill of stimulus variation,
(A) explanation
(B) inducto-deductive approach
(C) pausing
(D) previous knowledge.
N EBZTY wésé;mss@ TBOT WO FITVOTY) QWONG.
(A) =TI
(B) o0n=0s8-dnsos gvsmsse
(C) w53 TrRdE deond
(D) msrze%s
M-2151 [10]



27) The component in skill of explaining is linking,
(A) words i (B) sentences
(C) knowledge | (D) objectives
VWD IO 80T PuF0BR) B3 FINTTT BReRFBOIRNAT,

(A) =onsh (B) mo3ns
(C) =3 (D) svdesnsh
24 Q

28)' The educational technology is a process of
(A) applying technology to education
(B) applying education to technology
(C) learning through technology
(D) using technology to teach.
38638 3080w BWO 2,000 FFOHOIRNE.
(A) BoZepsSa), d3red VIR
(B) 3grom, 30@&3@% VJOWRP)
(C) BoZwmsa wnws 393
(D) Zredmen B03wmpmeEsy, WP

29) The maxims of teaching refers to
(A) principles of teaching (B) techniques of teaching
(C) goals of teaching (D) objectives of teaching

BRITID BRINW VWD), BT,

(A) Doz BIRW (B) Brecgdzse 3o3nsh
(C) Lrerme MdON (D) Loegme wwgiesnsd
M-2151 [11] L



30) Which one of the following is not related to Religious education?

31)

32)

(A) promotion of spiritual value (B) character building
(C) disharmony (D) preservation of culture

FINTPYNTY C30YTD ORFT ST, FOWORA.

(A) sTRis SPONY T (B) wosw e3v=sedn
(C) »ron33 (D) ﬁo%@éoﬁn ROTTT

Education acquired without any specific fixed period of place is

(A) formal education (B) informal education

(C) indirect education (D) individual education

O3PTE AOFF emcg"pe'eﬁ, Egpd ATOB DR ﬁ@%ﬁagd jddeara%iz}w
NIOTH FTOINRT?

(A) Bzes0s dgeo (B) w3P=eseds deo

(C) =dwees d3eo (D) Fobdz dzeo
Which of the following does not represent the nature of philosophy?

(A) science of knowledge

(B) man’s creative ideas

(C) planned attempt on search for truth

(D) collective ensemble of various viewpoints

FENT SRR 333;3315 BEeRTR, TIAQAYOY?
(A) =2 LwIT w5

(B) 2% SIRIDT ARTE 3OIND

13

(C) 2w REFN DWHT 0dnelE TN,
(D) 207 Bdeeany momeis AN,

M-2151 [12]
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33) The best way for providing value education is
(A) discourses on values
(B) seminars
(C) discussions
(D) mentoring on values.
ﬁi?fegé@i*oé 30 LENEH BBII wRNE
(A) SPone ALy ESNEREY
(B) SPone wrf Qwoneesy
(C): Badr
(D) SPofe wii IRNETIFS
34) A deliberate and systematic attempt of a teacher to teach morality as a subject
1s referred as
(A) direct method (B.) indirect method
(C) incidental method (D) formal method
35,8830, DRODTARTON 2.y, LIRETT emcg;ezﬁ BRTFF B ﬁéﬁ%émﬁ
25ReQAT TN,
(A) B33 Qo3 (B) mdweg 53
(C) =RONE DR (D) Bms008 253
35) The process of assigning numbers to the traits of individuals
(A) testing (B) assessment
(C) evaluation (D) measurement
FINIRYNTY SRR FFOR TN DOINYRY, BT T3oHc3NT?
(A) =oegee (B) sFR03s
(C) sSFomRII (D) Soxdesse
M-2151 13] ®L0)



36)

37)

Which of the following type of test item has the highest chance of guessing?
(A) completion type. (B) True or false
(C) Multiple choice (D) Analogy

NS 030 TOeTY T, AT &m@&a‘b@d% YOS BEI VRTOT ACRIT?
(A) 2 48 ow = (B) % egm 3@
(C) v wody (D) mowor 9303

Action research means

(A) fundamental research _

(B) activeresearch

(C) akind of research to find solution to the problem

(D) anattempt to find scientific solutions to day to day problems of education
803 RO 2033

(A) Seorned Rodeess

(B) 303m5¢0 Hosned

(C) ADAR Homed oredmd BoBREGS

(D) oo J8e3% RAAIN 22PN 0e80PY FWOTT BOTERHES

BODE,
38) If N=10 and Mean=13 then the value of Zfx is
(A) 130 (B) 1300
(€ 13 (D) 14
N=10 =3 Foexd 13 =338 Ifx 3 &S
(A) 130 (B) 1300
(C) 13 (D) 14
M-2151 [14]
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39) Binet’s Intelligence test is an example for

(A) Paper pencil test (B) Performance test
(C) Group test (D) Oral test
2e30PRT uo@pﬁoééoﬁo ﬁ@éiom____&ﬂomadﬁommj.
(A) BeTo'-Te® WO (B) =@z moes
(C) moozd woeg (D) =203 moeg

40) The ability to adjust to new situation is
(A) Mental health (B) Creativity
(C) Defence mechanism (D) Intelligence

SR ANFHE BRODIANRE MDTFY DT, APURHIT.

(A) BS23 S{etelt (B) Bzsdewd
(C) ZBewmo 303M%0 (D) ua%ﬁo\%%.

41) Psychoanalytic theory of personality is propounded by——.
(A) Carl Roser (B) Sigmund Freud
(C) Karen Horney (D) Hans Eysench

d‘sz_%gd dzﬁmeagfﬁm‘e’eﬁ %a%oédsmi Bnalssgh . o

(A) o's BReIx (B) arow FmodT,
(C) ﬁdas TONEF : (D) 5%5: a}ﬁoﬁs
M-2151 (15] (PT.0.)



42)

43)

44)

A student gives a number of responses for unusual utilization of an object. This
represent which of the component of creativity.

(A) Originality (B) Flexibility
(C) Elaboration (D) Fluency

2.2, :acro@Fodo, 2,03 dmaas @*—ama’ VTOINRENT 2NN mss wa’dri%i,
&c&%ﬂ QTN Naﬂae 530D o= w&sﬁoaﬁdm '“\%R)@noécs

(A) BogE R SRV

(C) 7o (D) donsss

Which of the following is the process of an individual retreating to his past.
(A) Compensation (B) Displacement

(C) Sublimation (D) Regression

33 INTHNIY a3 2.2) FEOD 00T TR 882988 TWEOHOIRAT.

(A) Boedextn® (B) AY WBONRT

(C) Rrdems* (D) oriezma® (&02803)

An individual put the blame of his own failure upon the shoulders of others.
Which defence mechanism is adopting?

(A) Sublimation (B) Sympathism

(C) Displacement (D) Projection

&,a ﬁ&o:i:o 35 :fe,wa’ ﬁrasam@sod,«i Q3TT #0083 536633353. (CTRT
O30 6@80@ ds“o aoéwm déd@a&‘@@tﬁ“f}

(A) 3% ODes (B) aomodzxr
(C) AY WTOOIR _ (D) mgesss
M-2151 [16]



45) The function of educational administration and management is

(A) Instructional tasks (B) Non instructional tasks
(C) Both (A) and (B) (D) None

38698 STIS 0B ARFBEOD FTOODNF ROWT

(A) BoerTo ToDF (B) BRe33009T Fo0DF N0
(C) (A) 3% (B) (D) cimaEe 92

46) Which is not the type of administration ?
(A) Instructional administration
(B) Authoritarian administration
(C) Democratic administration
(D) Laissez Faire administration
ISNIINGY  CIFD BRYST AFBY
(A) BreFze SEYS (B) d0on3 @93
(C) wTemoRze3ds BB (D) Sexfgier” SEOS

47) Assessment of how well a School is performing is

(A) Administration ~ (B) Supervision

(C) Inspection (D) All of the above
SO DT, YVZIETN SBEINET HOT TP ORI RV
(A) =sBE98 (B) edpso0ss

(C) 323 (D) 03 2QRp

48) The level school administration can be best judged through

(A) head teacher (B) building

(C) learning outcomes (D) teacher student relation
TooR SRYIT WITIY 030YTB3 BURLT YVSTION EIE ONFLTOTY?
(A) aiwairaéemqméodbda (B) 3w

(C) 39t Fonsd (D) 288 Qm®F 302003

P.T.O.
M-2151 (17] . )




49) In S S A programme, the acronym EMIS stands for

(A) Educational Maintenance Information System

(B) Educational Monitoring Information System

(C) Educational Management Information System

(D) Educational Mechanisms Information System

ABESFD VPO FORFIRTY AOTT 3.2 . T .DF ©oTT
(A) 37698 ARFHD [0S wu:fﬂ@

(B) 3338 So0&8 SIVple dsa’:’é

(C) 3335 =odé ATFEm™ DSBS

(D) 3338 Sm&e chozgsod 555::1;

50) The term “Manpower needs’ of the country requires
(A) people should be educated in accordance with specified job requirements
(B) capacities of men should be fully utilized for education and training
(C) enrolments in educational institutions should be decided accordingly

(D) education at all stages should be geared to promote the powers of the
education

SIS 33 Yneg3” TWoFOFod Tsed wod FeIm, ONE3 2003

(A) QOFHoT POTRET, Sl 8303 &I Ll Eleplptalyn

(B) =30 338 AORRBEF T, TWReF 0N 5308, B Iowedr wwmadeeATen

(C) 35657 ,ﬁofé)mﬁgz 0TI, [T 38 SOEE 3508 Qrar oI

(D) 33 BEORD, NY FoINGY JQrAen 5TPRTI, TY&HT IRBIDT

e QYOO

M-2151 [18]
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eﬂzp:s@s'ﬁ@ﬁ nRERN

l.  £.00.65TF. Y088 ToYoh BRI 50 gs’g@.:saa BROODLD BB [T @3,
mfsm: QIR VTN,

2. a@@sdow wé? AT, e Toesr BO%, IRRZRORIET DTODY, ROWORAT ¢
aomcjm w@éf@w@

3 ""@3 éo:b d.ra%d:b ZONZoNoT 3TN0 ) wé’ TFONOT £u.e0.830°. Ncrel
meﬁcﬁom ea¥pleat eﬁd) 2.00,63T°. Spcte meﬁod:@ wms afm%oéojaab a’aoeb@
BRI fuazﬁo:boa’ Qe) 5@1:\&)33@3 DWONGR, éooue» éaajecmdd QI
efo@icﬁ ToPodH aﬁ‘%mwd Nmoﬁd@ YVOERTORN  TOTONENR ﬁodai%mﬁ
E’Oeﬁe ummdmﬁdﬁea

4. =oegod *modad@

a)  Fdodeomd BIHOD, RBNeT L.OD.

b) =& TI oD IR JeBHT WY, v, BoHNYY ©808 Fooiwa/ RREDT

ma’dwaﬂa QAPFDA.

c) £, e:eof ToIODIS FoWORAT TJB,oB %3, F0F00B, FOTRear N oD,
U aplesols-Tal ‘-Jé JSFODY ""E? 093 8@ “C” Zood»s emédmﬁdd Qed /3T,
LS TooNOLF wa" ALY ég@o ejcf emra“d ToPoD T Noai 86 SINOTI ée
FYNT0Z Bowd:

T3, 703, 8B @ @ O (WFTH ZnE) (P TEWOEF T SR YVToieeNR)
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